H & 0l & AHS B Ml A

20238 =0ilah eS| (8 EAE 1L
A Y k== Ent = W
mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEEAE 17,538,004 18,496,279 A958,185
= 4,428,452
[ 525,847
Jl 743,136
< 4,452,572
= 7,388,087
JIE=X Al =Y 12,516,062 12,006,112 510,950
= 4,418,702
s 395,447
Il 583,441
= 3,044,363
[Ea 4,074,109
dAdet ORI Ao 1,980,463 2,703,463 723,000
= 300,733
Il 477,661
s 259,050
s 943,019
gel=Eie X 9,300 4,000 5,300
301 22N = 9,300 4,000 5,300
11 AALEIXIES 2,300 2,000 300
O0jgated A A
28,0003 25 +32 2,100
O4EME=04Ual &4
100,000 x2&H 200
14 0Bt 243 7,000 2,000 5,000
OWE=X 4318 S U= o ns ZAH
=d 1,000,000 *22] 2,000
Oogagad BA+g
312,500& * 162 5,000
HEHH S ZatAte 13,000 13,000 0
= 3,500
Ea 9,500
307 gl2to| & 13,000 13,000 0
=S 3,500
s 9,500
11 AMISXAIEEX 13,000 13,000 0
ONdgEHNSE HatAre
13,000,000 * 13l 13,000
< 3,500
= 9,500
JEHENY FHEAH 5,400 5,600 A200
= 1,980
Ea 3,420
201 eer23y| 2,520 2,720 A200
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2A:

odE A3

mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,19
s 1,325
01 At2tltl 2,520 2,720 A200
OJIgH UESRA =AY 1,800
= 900
o 900
OFEEHA 23] 720
=S 2%
s 425
307 212+01& 2,880 2,880 0
< 785
s 2,095
11 AMEISXAEEES 2,880 2,880 0
OF L LA &S 2,880
= 785
o 2,09
MEHEH X823 69,112 66,688 2,424
= 34,556
= 17,278
o 17,278
307 el2tol & 69,112 66,688 2,424
= 34,556
< 17,278
s 17,278
11 AMEISXAEEES 69,112 66,688 2,424
OF L LA A 12y 63,5692
= 31,796
< 15,898
[Ea 15,898
OblIE & M<IHAH| 5,520
= 2,760
< 1,380
[Ea 1,380
HARIE0 N2 58,500 52,000 6,500
201 er23 | 5,000 5,000 0
01 At2teltl 5,000 5,000 0
OYMBEF2I I ESAF EHTH M=
100,000 *6H 600
ON&EEHME ArR2teld]
2,000,000 *14] 2,000
ON&EME =l 2,000,000& *14] 2,000
OU4ax g2FA E2=F MX
10,0002 *40H 400
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SN Y EAED
HE: JIE=R MHlA S0

Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 2,500 2,500
03 A=A 2= 2,500 2,500
OOEEAE NIRRT
2,500,000& %12 2,500
206 MH=H| 14,000 12,000 2,000
01 M=4l 14,000 12,000 2,000
OUEEBNE 2
100,000 #7220 14,000
301 LELEE S 10,000 12,000 22,000
14 JIEt2 8= 10,000 12,000 22,000
ClwaddAtE 200,000& x20H 4,000
OCi4E=tHeE 28 A<
300,0002 *202] 6,000
307 @120l & 27,000 20,500 6,500
1 AMISXAIEEXS 27,000 20,500 6,500
OWdHMXN A A&
150,000 80 12,000
OBAE LiEZ & =24 o]
5,000,000 14! 5,000
OYMBEF2I I ESA
7,000,000& *14] 7,000
O0&gHHEs adst N
3,000,000& *14] 3,000
=S Oloik Xigss 2208 @ 9/2H X 428 428 0
Il 300
== 64
[ 64
301 22N = 428 428 0
Jl 300
S 64
o 64
01 Al EE A S(FRDEEMA) 428 428 0
OJIE =4 Tloiit Azels 2208 & 2
=4l X3 428
7l 300
S 64
o 64
SEHIoH A 2 =4I, 2tEE| XA 425 500 NT5
Jl 297
S 64
[Ea 64
301 EtE2 NS 425 500 AT5
Il 297
== 64
= 64

%
&
|
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2A:
PSER
o e

el

Ol AED
IIE=R MHIA S0
AT IIEHH P

[y lyed)

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

S

M

2,043
255
255

S

UMY

2,553
2,553
2,043
255
255

3,353

A800

M

1,000
333
667

1,000

EUNGY

1,000
333
667

1,000

M H

1,000
1,000
333
667

(V=== PN

Mo W

378,539
264,977
45,425
68,137

358,571

19,968

101 e124d|

Mo

115,363
80,754
13,844
20,765

115,363

04 JIZtNZ22XSE =
O0toI=s XIZAY Q12|

HH W

115,363
115,363
80,754
13,844
20,765

115,363

HH W

9,3%
6,577
1,127
1,692

9,3%

01 AtR2telbl

O00I=E XA E2H € MRES

sl

233

Ootol=

B
M0
08

Ot
o Z

[0

At

H0
02
=5

HoH W

A

6,99%
6,99
4,897

839
1,260
2,400
2,400
1,680

6,99

2,400
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2A:

odE A3

mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 288
s 432
202 04l 280 0 280
= 196
< 34
= 50
01 2LHoIH 280 0 280
OO00ISE XIZAY 0 280
= 196
== 4
[ 50
301 EtE NS 253,500 0 253,500
= 177,450
== 30,420
o 45,630
01 Al 2E A S(SRNEXMH) 253,500 0 253,500
Oo0tolE= NEAS 0182 253,500
= 177,450
=S 30,420
s 45,630
thEebls X3 273,850 80,080 193,770
201 =3 25,000 0 25,000
2 S5=2g4l 10,000 0 10,000
od=scd 2% 10,000,000 * 14| 10,000
03 A=Y 15,000 0 15,000
OZE0IF0Y St=0ZE & dEclus 3,000
OLI23IH gt=Ate] H8gs K3 A 2,000
OOl Reluwd XA 10,000
301 2PEN= 182,850 182,850
03 AR 2E A5 S(XILHE) 182,850 182,850
OAL2ISXIAIE SALAF MHEEl XI& 2,850
Ottzahle so0tids XN& 180,000
307 el2to| & 66,000 80,080 14,080
1 AMISXAEEXS 66,000 80,080 14,080
Ot=2=hiE 228 & 22108 23
8,000,000 * 14 8,000
OU=23tE Y2 KA
50,000,000& * 14| 50,000
OZE0IF0d IS =AY
8,000,000& *14] 8,000
220t8 & UEatE X2dE 28 311,840 263,840 48,000
Il 185,920
= 46,776

_3%_




2A:

X XH -
o=

odE A3
IIESX AUlA Eth

Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

[Ea 109,144

101 @1A4H| 223,000 223,000
Il 111,500
= 33,450
= 78,050

MU IIRIMZZENSES 223,000 223,000
OJIZEHZ22 X 21 244| 223,000
) 111,500
& 33,450
= 78,050

201 Zet=dl 86,340 86,340
) 43,170
< 12,951
s 30,219

01 At2t2ltl 13,700 13,700
OAMRaEE 13,700
Jl 6,850
< 2,055
[Ea 4,79

03 Ar=EHI 72,640 72,640
ORO0Ph= 0l=01d CHOISAE 5,940
Jl 2,970
< 891
[Ea 2,079

OU=2=tE &g MUAtel 28 oM

= 46,700
Jl 23,350
[ 7,005
T 16,345
OIS dEAHFA 2,000
Jl 1,000
& 300
Ea 700
OJtE=sSAtER 700
Jl 350
[ 105
Ea 245
OXSESSHAH =T 11,300
Jl 5,650
< 1,695
[Ea 3,955
OIF2AH AL 6,000
Jl 3,000
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2A:
PSER
o e

el

Ol AED
IIE=R MHIA S0
AT IIEHH P

[y lyed)

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

900
2,100

202 04|

S

A H

2,500
1,250
375
875

2,500

01 S0
OArd =&l

S

M

2,500
2,500
1,250
375
875

2,500

[N
I
=
o

r

A SHANMHIA X

S~

M

32,813
16,406

4,922
11,485

31,788

1,025

101 Q124H|

S

EUNGE

32,813
16,406

4,922
11,485

32,813

S

M

32,813
32,813
16,406

4,922
11,485

32,813

ChEebiE Eaoge X2

S

M

39,344
19,672

5,902
13,770

38,498

846

101 e124d|

S

A

30,000
15,000

4,500
10,500

30,000

S

A H

30,000
30,000
15,000

4,500
10,500

30,000

S

M H

9,344
4,672
1,402
3,270

9,344

8,000
8,000

8,000
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2A:

odE A3

mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 4,000
=S 1,200
s 2,800
03 A2 I 1,344 0 1,344
ogoge 24 X2 1,344
v 672
=S 202
s 470
CIE23IEXIZHE SAAL QIS XIA 57,010 52,230 4,780
< 17,103
= 39,907
101 @124H| 57,010 0 57,010
= 17,103
= 39,907
MU IIRIMZZENSES 57,010 0 57,010
OUE3IIENZHE SAHL 12| 31,020
= 9,306
[Ea 21,714
OUZSINIEXEHE SAA =X+ 17,190
< 5,157
[Ea 12,033
OU=Z3EN3dH HEE 8,800
= 2,640
= 6.160
ZE0I12A NEXE SeAte 11,000 9,340 1,660
=S 4,400
s 6,600
201 et 3| 1,800 0 1,800
== 720
[Ea 1,080
01 AtR2t2lt] 400 0 400
OZ=012A THEXE SEAE AIRES 400
S 160
= 240
03 A= SHI 1,400 0 1,400
OZE012A NHEXNE SEAS 1,400
= 560
o 840
301 EtE NS 9,200 0 9,200
< 3,680
[Ea 5,520
03 AR 2H A5 S(XILH) 2,000 0 2,000
OZEO0IBIR KXY SEAI (TS 8HHI) 1,000
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2A:

odE A3

mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 400
s 600
OZE0I2A NI SEM (HLEH 1,000
= 400
Ea 600

14 0Bt 2a3 7,200 0 7,200
OZE0[2X+ NHEAE SEAIE ZAH| 7,200
S 2,880
[Ea 4,320

=28 =g =29 104,500 103,300 1,200
= 36,575
= 67,925

101 @124H| 49,500 0 49,500
= 17,325
[Ea 32,175

04 JIZtN2 2N S 2+ 49,500 0 49,500
OZ2=2¥ UI=8tg 22| 49,500
s 17,325
s 32,175

201 =3 32,000 0 32,000
& 11,200
= 20,800

01 At2tltl 2,000 0 2,000
O2=2¢ 0i=8tg 24 2,000
= 700
[Ea 1,300

03 A= 30,000 0 30,000
O#=EHA AMY 13,000
== 4,550
o 8,450
OLZ3t0i=e 2 XA 17,000
== 5,950
= 11,050

202 04t 500 0 500
= 175
o 325

01 2L A 500 0 500
O34 i=ad 27 =& 0l 500
== 175
o 325

301 LEIE NS 22,500 0 22,500
= 7,875
= 14,625
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2A:

odE A3

mm: J==X MHlA 20
Chel: AM™E IIFEH 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 22,500 0 22,500
O=2=4 ll=sd AIE2E ZAt| 22,500
= 7,875
o 14,625
Ch23ts DEUsS0l XA 16,000 8,000 8,000
s 4,800
s 11,200
307 21201 & 16,000 8,000 8,000
< 4,800
[Ea 11,200
11 AMEISXAEEES 16,000 8,000 8,000
OttEshtE ngUsol X
16,000,000 * 14| 16,000
= 4,800
= 11,200
CtEst 342 X3AAMY 6,000 6,000 0
=S 2,400
s 3,600
301 EtE NS 6,000 0 6,000
== 2,400
[Ea 3,600
14 JIEt2 = 6.000 0 6.000
Ot=2staAad &2 XA 6,000
S 2,400
= 3,600
MHgE & MHYE S gE2usAHlA X2 73,660 72,448 1,212
) 36,830
< 11,049
s 25,781
101 @124H| 60,000 0 60,000
Jl 30,000
== 9,000
[Ea 21,000
M ORINZZ2NSE S 60,000 0 60,000
OYZX AL 2124] 60,000
Jl 30,000
=S 9,000
s 21,000
201 =3 8,660 0 8,660
Jl 4,330
=S 1,299
s 3,031
01 AtR2t2|HI 8,660 0 8,660
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2A:
X XH -
o e

=aak

Ol AED
IIE=T MBIA ST
dAFet II=HH P

SN - FH.

SRAZ) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

@)
oz
Rll

A =24

H0

S

M

8,660
4,330
1,299
3,031

202 04|

S

M

5,000
2,500

750
1,750

5,000

01 SLH0I
OYZRIZAH 2S04t

S

M

5,000
5,000
2,500

750
1,750

5,000

S

M

15,500
7,750
2,325
5,425

15,500

S

M

15,500
7,750
2,325
5,425

15,500

01 AF2-2t2ltl

O=2gHl

03 A}
OZ At

a]

M0
02

U

S

M H

S

M H

5,500
5,500
2,750
825
1,925
10,000
10,000
5,000
1,500
3,500

5,500

10,000

M

390
117
273

510

N 120

M

390
17
273

390

M H

390
390
17
273

390

OIE=20l E==1=d| K&

H

2,250
675

2,4%

N245
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A Y k== Ent = W
mm: J==X MHIA 20
Tl 2| AHIASA CoR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,720
=S 10,360
s 10,360
307 @I2to| & 41,440 39,000 2,440
= 20,720
=
Ea 10,360
1 AMISXAIEEXS 41,440 39,000 2,440
OO08l0ld Atefzg| 41,440
= 20,720
= 10,360
= 10,360
Ogloly 22X (M -H) 6,680 5,200 1,480
= 3,340
= 1,670
= 1,670
307 elztol & 6.680 5,200 1,480
= 3,340
< 1,670
= 1,670
11 AMEISXAEEES 6,680 5,200 1,480
OO0gl0l& Wi ~H| 6,680
= 3,340
== 1,670
[Ea 1,670
S elAdl X& 2,346,120 2,534,600 188,480
= 1,173,060
== 586,530
o 586,530
307 212+01& 2,346,120 2,534,600 188,480
= 1,173,060
= 586,530
o 586,530
10 AlRISXAZEE 22X 2,346,120 2,534,600 188,480
OEFuAA o128 XI& 2,346,120
= 1,173,060
= 586,530
Ea 586,530
HEeEY N 149,670 384,600 A234,930
= 97,290
= 26,190
Ea 26,190
301 LEetE N = 149,670 384,600 N234,930
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2A:
PSER
o e

el

odE A3
IIESX AUlA Eth
SRAMUIASA

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

HoH W

97,290
26,190
26,190

MW

149,670
149,670
97,290
26,190
26,190

384,600

A234,930

MW

30,000
10,045

3,013
16,942

30,000

402 2I2FX=01 &

Mo W

30,000
10,045

3,013
16,942

30,000

30,000,000 %104 A~

Mo W

30,000

30,000
10,045

3,013
16,942

30,000

gorels oelold X

UMY

9,710
1,942
7,768

10,900

A1,190

307 212+01™

M

9,710
1,942
7,768

10,900

A1,190

11 ARIEXAIEE X

OO0glold ¢ttt X1

A H

9,710
9,710
1,942
7,768

10,900

A1,190

HoH W

983,860
639,510
137,740
206,610

938,500

45,360

307 212t01™

HH W

983,860
639,510
137,740
206,610

938,500

45,360

05 0129l

O02M 22 X&

H

983,860
983,860
639,510

938,500

45,360
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A Y k== Ent = W
mm: J==X MHIA 20
CHel: EIRAHIABA (e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 137,740
s 206,610
3BAl FlUEEE= 727,452 607,640 119,812
= 727,452
301 2eEN= 327,452 207,640 119,812
< 327,452
03 A2 H A0S (XIS THH) 327,452 0 327,452
O35Ml FelHEER2(ES2, 280, M2
JHetl) 327,452
== 327,452
307 gl2to| & 400,000 400,000
=S 400,000
05 2ItRIE = 400,000 400,000 0
O35 FRIHBESZ(EST) 400,000
= 400,000
0oy 2SN (sHEY Hold XIg) 3,600 3,160 440
= 1,800
=S 900
s 900
307 @I2t01 & 3,600 3,160 440
= 1,800
= 900
[Ea 900
1 AMEISXAIEEXS 3,600 3,160 440
Os0EYL ool Xa 3,600
= 1,800
= 900
o 900
Lt aMESTEPSED) Fala] 72,732 85,000 N 12,268
=S 21,820
s 50,912
307 @I2t01 & 72,732 85,000 A12,268
< 21,820
[Ea 50,912
11 AMEISXAEEES 72,732 85,000 A12,268
OEsWAZ XML 72,732
= 21,820
= 50,912
SR ML XA (020 AL mAL 131,040 184,000 A52,960
= 65,520
& 32,760
= 32,760
307 elztol & 131,040 184,000 /52,960
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2A:
X XH -
o e

=aak

odE A3
IIESX AUlA Eth

SIMHIASA

SA - BE - SRA(SIH) - AIRAY -

Ofl &F2H

MEE
Ofl &k2h

HoH W

65,520
32,760
32,760

11 ARRIS XA E X
OO0glolId 8&uwAr XI&

MW

131,040
131,040
65,520
32,760
32,760

184,000

A52,960

SRKNAY HRMHE N (SEESUA SE2PE

MW

62,868
31,434
15,717
15,717

80,000

A7,132

307 212+01™

Mo W

62,868
31,434
15,717
15,717

80,000

A7,132

Mo

62,868
62,868
31,434
15,717
15,717

80,000

A7,132

ool 200 A&

M

28,800
8,640
20,160

29,800

21,000

307 212+01™

M

28,800
8,640
20,160

29,800

21,000

10 MeISXAEHE2EHIEX

O0lglold 2=&<00 XI&

MO

28,800
28,800

8,640
20,160

29,800

21,000

HH W

304,000
152,000
76,000
76,000

295,000

9,000

307 212t01&

HoH W

304,000
152,000
76,000
76,000

295,000

9,000

Mho

304,000
304,000
152,000

76,000

295,000

9,000
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oan

S HARAED
mm: J==X MHIA 20
S B AMHIASHA (etel:d
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| = 76,000
ooy 249 K& 198,249 123,189 75,060
201 2| 9,000 9,000 0
02 23244l 1,000 1,000 0
OASIEXAIE 2] 1,000,000 * 1 £ 1,000
03 &At2ZH] 8,000 8,000 0
OEsuAA Az N2
8,000,000 14 8,000
301 LetEEF 76,190 55,000 21,190
03 A3 2 & A6 2 (RIYTHA) 76,190 0 76,190
ONHel0lE tHMZClA XI&
9,620 *BA| 2Fx 152 Q0 A 10,390
Ogeloeloly dES (=) XA
2,000,000 *47H 2~ 8,000
OESWE2A(X2|AH £ X
50,0002 x99 1201 = 5,400
OBRWXNA(BEFUA) 252 X2
30,0003 =158 1201 2 5,400
OERUAA(BFUA) 2524 X2
50,0003 =25 1201 & 15,000
ONelold WA &4 XA
200,000 x23| *80H 32,000
402 I2ERH=0IH 113,059 43,8% 69,163
01 QIZEXH2 AN 2 2 (REITH &) 113,059 43,8% 69,163
Onelod JIs22 X3
141,323,000 *80% 113,059
elold Z2haH| X1 23,400 23,400 0
= 7,020
= 16,380
307 QI2H0l A 23,400 23,400 0
& 7,020
i 16,380
11 Al SXAMEES 23,400 23,400 0
ONeglold =2taldl XA 23,400
& 7,020
i 16,380
O2l01& CHXI AL XIZ A 24,044 28,800 A4, 756
= 12,022
& 6,011
i 6,011
307 QI2H01 ™ 24,044 28,800 A4, 756
= 12,022
& 6,011
i 6,011
11 Al =SXAMEES 24,044 28,800 A4, 756
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2A:
T ZH -
o e

=aak

OlaE A DL
JbE=T MHIA 20

SIMHIASA

SA - BE - SRA(SIH) - AIRAY -

=
0x
Jo

Ofl &F2H

H
ol &y

OO0I2l0ld THMI A X1

HH W

24,044
12,022
6,011
6,011

HH W

1,386,200
901,000
242,600
242,600

283,540

1,102,660

Mo W

1,386,200
901,000
242,600
242,600

283,540

1,102,660

MW

1,386,200
1,386,200
901,000
242,600
242,600

283,540

1,102,660

M

14,400
4,320
10,080

14,400

307 212t01&

M H

14,400
4,320
10,080

14,400

11 ARRIZXAIE 2 X
=]

OOGIgl0l& OAIEt 24l XI&

M H

14,400
14,400

4,320
10,080

14,400

G

ikal
]
FO
oy

Hl XI&

M

160,320
48,096
112,224

160,320

307 212+01&

MO

160,320
48,096
112,224

160,320

H
gl

1 AR S XIA
O0lglold 223d| X

M H

160,320
160,320

48,096
112,224

160,320

NEESTESEY,

=Ty

S

M H

3,829,774
1,009,608
395,447
105,780
826,222
1,492,717

3,634,720

195,054
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2A:

odE A3

mm: JE=X MHIA 20
Chl: OtSSXIMHIA 8taf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OrsSXgeFd 8,628 8,720 A2
201 er23 | 8,628 8,720 A2
01 At2teltl 4,000 4,000 0
OOtS=AE T AtF2ll| 1,000
Olts=sAgFFA S| 3,000
02 S3=gHl 4,628 4,720 AR
OOIS3ITH AHA OV SXI2+HIZ
44,0003 122 528
Ootssilh 88Xt S8 & FAl2e 3,500
Ootsstt] 837 sUHds 01823
50,0002 128 600
LAOLS IS 16,800 16,200 600
Il 11,760
= 2,520
[Ea 2,520
301 LEtE N = 16,800 16,200 600
Jl 11,760
= 2,520
= 2,520
01 A2 HSFS(RNEERTHE) 16,800 16,200 600
OYUAOIS VB4 X
200,000 x7&* 12042 16,800
) 11,760
S 2,520
= 2,520
OlSZERAR(CISHASE) X2 104,126 97,664 6.462
= 72,888
< 16,619
s 15,619
301 EtE NS 104,126 97,664 6,462
= 72,888
== 15,619
[Ea 15,619
01 AR 2EHSHS(RNEXRTH) 104,126 97,664 6.462
OOts 2RI H Z 104,126
= 72,888
=S 16,619
s 15,619
IEAEESH X 125,100 111,300 13,800
< 12,510
s 112,590
301 EtE NS 125,100 111,300 13,800
= 12,510
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A O

SEAE

M JIESKX MEIA 2
&2l OtsSSAIAHIA Skt

SA - BE - SRA(SIH) - AIRAY -

=
0x
Jo

Ofl &F2H

H
ol &y

H

112,590

03 A 2 H A0S (XL THH)

o
OJHE2E 23| X

Mo

125,100
125,100

12,510
112,590

125,100

SHaots detdld

M H

47,320
14,196
33,124

37,140

10,180

M H

47,320
14,19
33,124

37,140

10,180

UMY

47,320
47,320
14,19
33,124

47,320

MW

39,200
31,360
2,352
5,488

28,800

10,400

MW

39,200
31,360
2,352
5,488

28,800

10,400

Mo W

39,200
39,200
31,360
2,352
5,488

28,800

10,400

S

HJ

70,080
17,520
52,560

51,100

18,980

307 212+01™

M

70,080
17,520
52,560

51,100

18,980

11 ARIEXAIEE X

=
OZalots=4l A

o

8,0003 » 12 +3652 +2

Al

=/

70,080

70,080
17,520
52,560

51,100

18,980

Ot
o
O
il
Jz
fal
o

It

H

306,000
76,500
229,500

238,140

67,860

307 212+01™

306,000

238,140

67,860
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2A:
X XH -
o e

Sk

odE A3
IIESX AUlA Eth
Ot==XIAHIA Skt

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

76,500
229,500

8,000 »425H+90

H

306,000

306,000
76,500
229,500

238,140

67,860

in

281,960
281,960

281,960

H

281,960
281,960

281,960

H

281,960
281,960
281,960

281,960

MO

280,000
70,000
210,000

245,000

35,000

307 212t01&

M H

280,000
70,000
210,000

245,000

35,000

11 AR S XA 2=

OXIS0tSHIE S41H|

8,000& x 140 250!

M

280,000

280,000
70,000
210,000

245,000

35,000

KNS =ZAEE SeAtel2tel X

Mo A

157,240
125,792
15,724
15,724

148,320

8,920

Moo

37,000
29,600
3,700
3,700

25,000

12,000

01 At22te|bl

OEZAEE 2EHI(MRES

390,000& * 128

Mo A

450,000& % 102!

Mo

12,000

4,680
3,744
468
468

4,500
3,600
450
450

12,000
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2A:

X XH -
o=

odE A3
IIESX AUlA Eth

Chl: OtSSXIMHIA 8taf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSSEAtdI22IAL ?I& WS
300,000 x4 1,200
= 960
= 120
2 120
O2YIAE EHALY
70,0002 62 *13] 420
= 336
< 42
s 42
OF2I S YUIDI ABR
100,000& * 122 1,200
[ 960
== 120
= 120
02 S3=4gl 5,000 5,000 0
OCEAEE XS
250,000 * 122 3,000
[ 2,400
= 300
= 300
OAIZZEHl | 1,000
[ 800
= 100
= 100
OCEAEE B23R= 1,000
[ 800
= 100
= 100
03 A= SHI 20,000 8,000 12,000
OCEEHARE 2208 23 20,000
[ 16,000
= 2,000
= 2,000
202 048l 10,000 20,000 10,000
[ 8,000
= 1,000
= 1,000
01 =LHAHI 10,000 20,000 10,000
OEEAEE HRFE o 10,000
= 8,000
< 1,000
= 1,000
206 MH=Hl 2,000 0 2,000
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2A:

odE A3

mm: JE=X MHIA 20
Chl: OtSSXIMHIA 8taf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,600
=S 200
s 200
01 M=4l 2,000 0 2,000
OoZzd 2% M=l 2,000
[ 1,600
= 200
Ea 200
301 LEtE NS 103,240 83,320 19,920
[ 82,592
= 10,324
Ea 10,324
01 Al EE A S (2 RDEXA) 100,240 83,320 16,920
OCEAHE E=AEANHA 2H(2005) 100,240
[ 80,192
= 10,024
= 10,024
4Bt 23 3,000 0 3,000
Oz 2% A 2,000
[ 1,600
= 200
= 200
OXNSAE e & AH IS 1,000
[ 800
= 100
= 100
307 gl2to| & 5,000 5,000 0
[ 4,000
= 500
= 500
01 22X &I 5,000 5,000 0
O0ts AZHA & NS S 229 5,000
= 4,000
== 500
= 500
ors=¢ A= 1,030,549 1,084,747 A54,198
= 721,384
< 154,582
= 154,583
301 EtE NS 1,030,549 1,084,747 AB4,198
= 721,384
== 154,582
o 154,583
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2A:

X XH -
o=

odE A3
IIESX AUlA Eth

Chl: OtSSXIMHIA 8taf EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 Al B& XS Z2(2REETA) 1,030,549 1,084,747 A54,198
Oo0ts=4 A& 1,030,549
= 721,384
= 154,582
= 154,583
Ols+=g 224l K2 (XIXA AFE=&d]) 11 111 0
= 78
T 1
i 2
201 Ler23| 111 111 0
= 78
T 1
= 22
01 A=R2teld| 111 111 0
OO0ts=4 2494| XI& 11
= 78
& 1
= 22
XNE0ts4le 298| XA 97,788 447,120 A349,332
= 48,8%4
& 19,558
[ 29,336
307 212+01™ 97,783 447,120 A349,332
= 48,84
& 19,558
= 29,336
10 Al =S XA EBEER2IHIE X 97,788 447,120 A349,332
OX0ISHEH 2l XA (6IH) 97,788
—1921 Al& 1,231,000 *40l Ao+ 12 59,088
= 29,544
& 11,817
= 17,727
—2021 Al 1,580,000&* 104 L+ 12 18,960
= 9,480
& 3,792
= 5,688
—3021 Ol&k Al
1,645,000 * 10 2+ 12 19,740
= 9,870
& 3,949
= 5,921
OX0tSHIE 1Ml XA (6IHA) 0
NE0ts4lg l2id| I 433,522 0 433,522
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2A:
X XH -
o e

=aak

odE A3
IIESX AUlA Eth
Ot==XIAHIA Skt

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 216,761
=S 86,704
s 130,057
307 @I2to| & 433,522 0 433,522
[ 216,761
= 86,704
Ea 130,057
10 Al SAAEEHE 22X 433,522 0 433,522
O1921 A& 5,586,000 «40 A+ 128 268,128
[ 134,064
= 53,626
= 80,438
02021 A& 5,586,000 * 14 2xx 12 67,032
[ 33,516
= 13,406
= 20,110
O302! 0lat AlE 98,362
[ 49,181
= 19,672
= 29,509
NSOLSHE SAL Q1A4H] F=IHAI2 19,960 17,006 2,94
= 5,988
o 13,972
307 @I2t0| & 19,960 17,006 2,94
== 5,988
o 13,972
10 AlRISTIAEEE 22X 19,960 17,006 2,954
OXISO0tSHIE! SALRF 2I24H| =X 19,960
< 5,988
= 13,972
OLSS Xl W AHILFA 126,371 119,952 6.419
= 63,186
< 25,274
= 37,911
101 @124H| 126,371 119,952 6.419
= 63,186
== 25,274
o 37,911
03 SR (RIH )22 U2+ 54,159 51,408 2,751
OOtSE X WAHAIZI AL X2 K ~)
18,053,000 3 54,159
= 27,080
s 10,832
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2A:
PSR
ool

HAEAED}

IIESX AUlA Eth
Ot==XIAHIA Skt

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 16,247
04 JIZtN2Z2 XS E 72,212 68,544 3,668
OOtSSXI WAH(A} §|4E'X+E|X|%)
18,053,000 4 72,212
= 36,106
= 14,442
o 21,664
Ols= X AL K& 7,200 11,061 A3,861
101 e124d| 7,200 11,061 A3,861
M JItHZZ2REE 7,200 11,061 A3,861
OOIS =X LA BEAC
600,000 x6 & *22] 7,200
KNSOISHE SAHL S8+ 21,960 21,960 0
= 4,392
Ea 17,568
307 gl2to| & 21,960 21,960 0
=S 4,392
s 17,568
10 Al SXAIEEHE 2SI Ex 21,960 21,960 0
OXIH0tSHIE SAHA MIHEHI(5E014)
150,000 x9S * 122 16,200
< 3,240
T 12,960
OXIotsSHIE SALK M<LIH&HI(54015H
120,0002 ~4&« 122 5,760
= 1,182
o 4,608
AGotsdE 2SN 151,200 103,400 47,800
307 212+01& 111,200 103,400 7,800
11 AMRISXAEEES 111,200 103,400 7,800
OXIS0ISHE SASAAF 21218 A&
600,000 64 A+ 128 43,200
OXNS0otSHE eyl X2
300,000 *6 4 A4 3 7,200
OXNSO0tSHE SAHA 2+
1,000,0002x 13 2 26,000
OXIS0ISHE SAHLY X+
100,000 x13E «12& 15,600
OXISiotSHIE SAK HEFE(FIHXY)
300, 0002 * 1323 7,800
OXS0tSHE Sts w7 A
30,0002 %140 *13] 4,200
OXlS0otsHIE! A== Hl X
100, 000& *6IH A+ 122 7,200
402 2I2F X201 & 40,000 0 40,000
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2A:

X XH -
o=

odE A3
IIESX AUlA Eth

Chl: OtSSXIMHIA 8taf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QIZEXHE2 AL 2 (REHTH ) 40,000 0 40,000
OXSOtSHE XSS
40,000,000 * 100 2 40,000
ANSotsdEe Z2 03| =0t X 53,130 41,334 1,79%
=S 15,939
s 37,191
307 21201 & 53,130 41,334 11,79
== 15,939
[Ea 37,191
10 Al2ISTIAIEEE 22X 53,130 41,334 1.,79%
OX<EotsHEe Z=0gH| St X 53,130
—1921 Al 8,180,000 +40H 2~ 32,720
= 9,816
o 22,904
—2001 Al 8,600,000 * 10 2 8,600
s 2,580
s 6,020
—302! Ol&t A& 11,810,000 * 100 & 11,810
& 3,543
= 8,267
NH0ISHE SZHe X2 10,000 10,000 0
= 5,000
< 2,000
s 3,000
402 QI”F X201 & 10,000 10,000 0
= 5,000
== 2,000
[Ea 3,000
02 QI TH2AILEE (01X THE) 10,000 10,000 0
OXSotsHE e X
10,000,000 * 1904 10,000
= 5,000
== 2,000
o 3,000
KOS HE SAHL BEE 5,200 13,000 A7,800
= 1,040
= 4,160
307 elzto| & 5,200 13,000 A7,800
= 1,040
Ea 4,160
1 AMEISXAIEEXS 5,200 13,000 A7,800
OXSO0tSHE SAHA B+
200,000 x13& %23 5,200
== 1,040
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2A:

odE A3

M JIFSA MUIA =
&2l Ol sSAIAMEIA et EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 4,160
AS0tSHE 24dHl =0t X 3,600 3,600 0
== 1,080
[Ea 2,520
307 212+01& 3,600 3,600 0
< 1,080
s 2,520
10 Al2IS XA EEE 22X 3,600 3,600 0
OXSotsHE 2g8l =0t &
600,000 *6IH A 3,600
= 1,080
Ea 2,520
SSHEDIE(0EE) 2EXH 268,280 258,177 10,103
= 107,312
= 80,484
Ea 80,484
307 el2to| & 268,280 258,177 10,103
= 107,312
= 80,484
= 80,484
10 Al SXAIEEHE2EHI2x 268,280 256,977 11,303
ORL50lE 158 2FXA(212H)
32,125,000 «4E 20K 2 257,000
= 102,800
= 77,100
= 77,100
OREs0ts O8s 2 XA (2H])
470,000 * 12«20 2 11,280
= 4,512
= 3,384
= 3,384
S8 SAA 2124H] FIHXIE 1,971 3,288 A1,317
= 591
o 1,380
307 @120l & 1,971 3,288 A1,317
== 591
o 1,380
10 Al2ISTIAIEEE 22X 1,971 3,288 A1,317
OSE SAL odd] FIHAIA 1,97
< 591
s 1,380
188 2N 32,800 30,400 2,400
307 elztol & 32,800 30,400 2,400
1 AMEISXAIEES 32,800 28,000 4,800
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2A:

odE A3

mm: JE=X MHIA 20
Chl: OtSSXIMHIA 8taf EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSEEEIEETRE
300,000 »2)H A x4 2,400
O0OEE MK 2
1,000,000 «8 & »23] 16,000
ONEE EAN =X4g
100,000 x8E*12& 9,600
OIBE BAR BHLY(ZIINR)
300,000 x8H +23] 4,800
OlSSAAIE de0ts Nd 20,700 21,560 2860
=S 5,710
s 14,990
301 EetE2 NS 20,700 21,560 A\860
== 5.710
[Ea 14,990
03 A 2E A= S (XL THH) 20,700 0 20,700
Elx0ts THEEE=2 10,000
S 2,500
= 7,500
OAIZ0tSXI & 10,700
= 3,210
[Ea 7,490
OIS=EXAE 28 X3 17,760 17,760 0
== 5,328
[Ea 12,432
307 212+01& 17,760 17,760 0
< 5,328
s 12,432
11 AMEISXAEEES 17,760 17,760 0
OOlSHEAIE SA SE=E(54014))
150,000 x4 * 122 7,200
= 2,160
Ea 5,040
OOtSMEAIE SAR SE=Z(5E0151)
120,000 x4 x 122 5,760
[ 1,728
Ea 4,032
OSSHEINE SAL ORI2Z2+E
50,0002 x8& * 12 4,800
= 1,440
Ea 3,360
IS8 SMA BEsE 4,800 8,000 A3,200
== 960
o 3,840
307 212+01& 4,800 8,000 23,200
== 960
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2A:

odE A3

mm: JE=X MHIA 20
2ol OtS=XIAHIA ekat (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 3,840
11 ABI= XA 2 X 4,800 8,000 3,200
OIEE AT 2+
300, 0002 x4 E %2 2x23] 4,800
== 960
[Ea 3,840
Oi2l0le &AL =& 40,000 30,000 10,000
201 er23| 40,000 30,000 10,000
03 Ar=EHI 40,000 30,000 10,000
O0ielolg AL =& 40,000,000 *14] 40,000
SN grgeld A =2l 2,000 2,000
201 er23y| 2,000 2,000
03 A= I 2,000 2,000
OBRANe} Breoly Al XA
2,000,000& %12 2,000
AGotsEsd2012 28 NMIHM 28 27,418 16,900 10,518
308 AFAIEHMSOIH 27,418 16,900 10,518
07 AX L FE= 27,418 16,900 10,518
OXY0lsEsdEZI12 XX fE= 27,418
ols2Es AR X 5,000 8,000 23,000
= 4,000
& 500
Ea 500
201 2egh=3| 1,000 2,000 21,000
= 800
s 100
s 100
01 At22t2l] 1,000 2,000 21,000
O0ts2s MY ESUHAS X (A
&ul) 1,000
= 800
=S 100
s 100
202 04| 2,000 2,000 0
= 1,600
=S 200
s 200
01 2LHA b 2,000 2,000 0
Olt=sEs MERF SFHHI 2,000
[ 1,600
= 200
[Ea 200
301 Eet2 NS 2,000 4,000 /2,000
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